
Blinded Manuscript Click here to view linked References

https://www.editorialmanager.com/erke/viewRCResults.aspx?pdf=1&docID=8546&rev=0&fileID=55268&msid=3aa97ed0-68be-4551-9f47-61480823d91c
https://www.editorialmanager.com/erke/viewRCResults.aspx?pdf=1&docID=8546&rev=0&fileID=55268&msid=3aa97ed0-68be-4551-9f47-61480823d91c










∈

≥

=

( ) + ( ) = ( ∨

′

(
∣∣ ) = ′(

∣∣ )



S= 1

′

∀ ∀ ′∃S ∀ ∈S ∀ (
∣∣ ) = ′(

∣∣ )



S= 1

′

∀ ∀ ′∀ (∃ ( ∈ ) → ∀ ( ( ) = ′( )))





S= 1

′

∀ ∀ ′∃ ∀ ∈ ∀ (
∣∣ ) = ′(

∣∣ )

S1 S2 S





0 6

0 3 3 6

0 6

0 6



1

( 5) ( 5) 2

( 6) ( 4)

( 5) ( 5) ( 6) ( 4)



S= 1
′

′

∀ ∀ ′∃ ∀ ∈ ∀ (
∣∣ ) = ′(

∣∣ )

S1 S2 S



( 5) ( 5) 1 ( 5) ( 5) 2

( 25) ( 25) ( 25) ( 25)

( 1 5) ( 1 5) 1 ( 2 6) ( 2 4) 2

1 5) + ( 2 4) ̸= 1

( 2 6)+ ( 1 5) ̸= 1



S= 1
′

′

∀ ∀ ′∃S ∀ ∈S ∀ (
∣∣ ) = ′(

∣∣ )

S1 S2 S





3













+ ̸=

( 6) ( 4)

( 7) ( 5)
( 6) ( 4)

(1 6)2 + (0 4)2 (1 7)2 + (0 5)2

32 34

( 7) ( 5) ( 6) ( 4)

(0 6)2 + (1 4)2 (0 7)2 + (1 5)2

72 74



( 1 5) ( 1 5) ( 2 6) ( 2 4)

1 5) + ( 2 4) ̸= 1

( 2 6) + ( 1 5) ̸= 1

( 1 5) ( 1 5)

( 2 6) ( 2 4) ( 2 6) ( 2 4)



( 1 5) ( 1 5)

( 5) ( 5) 1 ( 5) ( 5) 2

( 25) ( 25) ( 25) ( 25)

( 5) ( 5) ( 5) ( 5) ( 25) ( 25) ( 25) ( 25)

( 1) ( 1) ( 1) ( 7)

( 5) ( 5)
( 6) ( 4)

(1 6)2 + (0 4)2 (1 5)2 + (0 5)2

32 5

( 6) ( 4) ( 5) ( 5)

(0 5)2 + (1 5)2 (0 6)2 + (1 4)2

5 72










